Zhejiang Chint Electrics Co., Ltd.

Add: No.1, CHINT Road, CHINT Industrial Zone,North Baixiang,
Yueqing, Zhejiang 325603,PR.China

E-mail: global-sales@chint.com

Website: http://en.chint.com

L £
e X

CHNT

Mounting Instructions
Paigaldusjuhised
MHCTPYKLIMK 38 MOHTaX
Instrukcja montazu
Montageanleitung
WHCTpyKLma Mo MOHTaxy
instructions de montage
asennus-ja kayttoohjeet
instrucdes de montagem
Monteringsveiledning
Montazni navod
Istruzioni di montaggio

(NO:2020.06)

NMS8N

instrucciones de montaje
LLlofo MOHTyBaHHA
Montaj Talimatlari
Obnyieg Eykatdotaong
Instructiuni de montare
Monteringsanvisning
Montage instructies
Monteringsvejledning
Istruzzjonijiet ta ' muntagg
Szerelési utasitas
Montazas instrukcijas
Montavimo instrukcijos

IEC/EN 60947-2



Caution: Installation by electricians only

Ettevaatust: paigaldus elektrikud ainult

BHMMaHMe: NHCTanvpaHe OT eNekTPOTEXHULMCaMo

Uwaga: Instalacja tylko przez wykwalifikowany personel
Vorsicht: Installation nur durch den Elektriker
MpeaynpeXxaeHne: MOHTaX JO/IXKEH BbIMOJHATLCA TONBKO
KBaNMOULMPOBAHHBIM 3/1EKTPOTEXHNYECKUM MEPCOHANOM
ATTENTION : I'Installation par du personnel qualifié seulement
Varoitus: asennus sallittu vain séhkoalan ammattilaiselle
Atencgao: instalacdo pelos eletricistas somente

Advarsel: monteres kun av elektrikere

Varovani: Montaz pouze osobou s elektrotech. kvalifikaci
Attenzione: installazione solo da parte di personale addestrato
PRECAUCION: instalacion por electricistas solo

YBara: MOHTaX e1eKTPUKM TiNlbKK

Dikkat : Kurulum sadece elektrikgiler tarafinca yapilmalidir.
Mpogoxn: eykatdaoTtaon va Yivetal amd nAEKTPOAOYyouG HOVO
ATENTIONARE: instalarea de electricieni numai

Varning: Monteras av behorig elektriker

Let op: installatie door elektriciens alleen

Advarsel: monteres kun af elektrikere

Attenzjoni: installazzjoni mill-elettricisti biss

Figyelmeztetés: a telepités a villanyszerel6 csak

Piesardzigi: iekartas, elektrikiem, tikai

Ispéjimas: montavima privalo atlikti elektrikai

NMS8N

Moulded Case Circuit Breaker
Vormitud kohtuasi kaitseldliti
ABTOMaTMYeEH NpekbcBay AT KOPMyC
Whytacznik kompaktowy

kompakter Leistungsschalter
ABTOMaTUYECKUI BbIKAKOYATENb B IMTOM Kopnyce
Disjoncteur boitier moulé
Kompaktikatkaisija

Disjuntor moldado do caso
Effektbryter

Kompaktni jisti¢

Interruttori scatolati

Disyuntor en Caja Moldeada

®dacoHHa BMNajaKy BUMMKaya

Alcak Gerilim Devre Kesici

AUTOPOTOL SLAKOTITEG LoXVOG KAELTTOU TUTIOU
Turnate Circuit Breaker Case
Effektbrytare

Gegoten behuizing vermogenschakelaa
Effektafbryder/Maksimalafbryder
Moulded Circuit Breaker kaz

Ontétt esetben megszakitd
Kompaktais slédzis

Pramoninis automatinis jungiklis




GH NT NM8N

1

Installation Installation
Paigaldamine Asennus
WHcranayus Instalagao
Instalacja Installasjon
Installation Instalace
YcraHoBka Installazione

Instalacion Installatie
BcraHoBA€HUA Installation
Kurulum Installazzjoni
Eykatdotaon Telepités
Instalare Uzstadisana

Installation Montavimas

Necessary tool

%

ﬁ

Inspection
®® &
Model @
00 2.5 £ o0
P 2(M3x65) 2(M6x16)
2(M5x65 4(M6x16
NMB8N(DO)-125 2P (MSx65) (M6x16)
ap 2(M5x65) 6(M6x16)
4P 4(M5x65) 8(M6x16)
1P 2(M3x85) 2(M8x20)
2(M5x75 4(M8x20
NMB8N(DC)-250 2P (M5x75) (M8x20)
3P 2(M5x75) 6(M8x20)
4P 4(M5x75) 8(M8x20)
NMSN(DC)-400 3p 4(M5x85) 6(M10x30)
NMBSN(DC)-360 > 6(M5x85) 8(M10x30)
4(M5x95 6(M12x30
NMB8N(DC)-800 3P (M5x95) (M12x30)
P 6(M5x95) 8(M12x30)
4(M5x110 12(M10x40
NMB8N(DC)-1600 i (M5x110) (M10x40)
4P 6(M5x110) 16(M10x40)

1. Determine product technical parameters;

A 2.0nly professional electricians are allowed for installation ,operation and maintenance

of the product.

Insulation panel(mm) | Metal panel(mm)
Model Ue(V) [ A | B

c1 c2 c1 c2
<660 10 30 30 35 35

NMB8N-125
=660 20 30 30 35 35
<660 10 30 30 35 35

NMB8N-250
=660 20 30 30 35 35

10

NMB8N-400 <660 10 30 30 35 35
NMBEN-630 =660 20 30 30 35 35
NM8N-800 20 130 130 170 170
NM8N-1600 20 130 130 170 170

Re-trip Closing Opening Closing Tripping

Test

01

A Ensure minimum installation distance

02



CHNT w8

v % v
10
o 30, 30 %0
30 30 v )
Y | ;g 50
35 :
u I
BE | i
i =
B Ry s 5@
=i ERAN) 1
124.5 125 30[
iz asser L 2xm8
1,
i & i LCERIN
2 ~ B "l @3l 127
el || 1= = RPN g| "
3 Bl e - A I
g X ¥ X o
g BERE 7
— ©® 24 1<
bl EZ
8| 2w
12|
Y

v
o };SV 1252
30 30 30 —— — —
303 & 725
]l ]
| |
Iz
SEmmIN 3 .
[N] El 5. K| = ||
- O a[g]xxw ’"‘ 23
o — o Aok i
o 0 T AXP5.5
N I+ ~
ool | R [P @3 n
e =i R T (S GI2I8[=
& SRS X
|
@ &
[18]
26.5 §
v
Y
Diagram 1. NM8N(DC)-125 Diagram 2. NM8N(DC)-250

03 04



CHNT w8

nm Manual type mn
Y Y
171

140 185 e v
o — 333
280
140
845

ka
2XM10

800A. 1000A. 1250A

) A dom |
Diagram 5. NM8N(DC)-1600
m Motor type Y v mr
Y o lo3max 333
FEE] 280
195 17 256 195
111 140 171
845 132
1) w| A
g g o
b " a2 | | - 3 ﬁ‘\ ,.\!\ slle \!\.\ S -
) m[ml Ehiigg b ags hg) J'“,iﬁm]m
= Y L 6X05.5 T
. : -
g ‘ 4 aaleslesliolf x X F
E Slaian B BRI &
E AR X
.,
o le L |}
a = | i 24xg11
I @”’"’ I s L e A H =
| S T
g - !
= B Y
1 [in[ 800A. 1000A. 1250A]
10mm
Diagram 4. NM8N(DC)-800 Diagram 5. NM8N(DC)-1600

05 06



P2

P1
=
|
J
]
R4(3P)
R5(4P)
R6(2P)
R7(1P)
Diagram 6. NM8N(DC)-125 ~ 1600 front opening hole size
Table 1. NM8N(DC)-125 ~ 1600 front opening hole size
millimeter mm
Size Size Model
Gy | &b 125 250 400,630 800 1600
P1 73 83 109 128 168
P2 80 89 114 134 168
R1 13 14 26.5 35 435
R2 26 28 53 70 87
R3 46.5 54 715 97.5 105
front R4 93 108 143 198 213
i) RS 123 143 188 263 283
ole size
R6 65 73 - - -
R7 38 43 - - -
Cc1 26 33 415 40 112
c2 70 78 116 125 140
3 50.5 56.5 103 108.5 112
c4 101 113 195 218 224
07

-
>
n
N}
=]

«

N EN
& &
el
I o~
AL B
+ Py
= — + 15
NM8N-125 NM8N-250
30 8, 30 8 44 . 10
] o) &
o w©
B\ g| T ORER SRS,
$ 1T || O o) &
: N
5 ;
NM8N-400. 630 NM8N-800
45 N
Type Z - 24
00| | SO &
o N (o
Jooo & @ &
50
A 77
En
> O [in] 800A. 1000A. 1250A [ 1600A]
;m [A[ 10mm [ 20mm]
o o ol
[t | 3P T7Z
67 NMB8N-1600
74.5 4P LLZZ
NMS8N-1600 Note : All front panel connections are optional

Connection plate and wire size

08



9 (N.m)

09

NMS8N-125, 250, 400, 630, 800 NM8N-1600
Model a(mm) b(mm) | c(mm)|d(mm)|e(mm)|f(N.m)[9(N.m)

NM8N-125 4 =75 <75 | ¢65 | <142 6 2

NM8N-250 6 =9.5 =85 | #85| =25 11 2
NM8N-400 = _

NM8N-630 8 =15 =125| ¢105| =30 25 3

NM8N-800 10 =20 =16 | $125| =50 35 3
10(1250A) B

NMSN—lGOOm =15 <16 | $10.5| <55 25 3
10




| T T
) 1 i 1
3 1 1
Circuitdiagram s s
g v [e T w s
c A c
Fauta | memumshortaiet FoutA | has o affect
Impact of fault Fauleg | Maximum shor FaultB | Maximum shor
a teireuit d
Fault C | has no effect F has no effect

[ 1

<DC500V.

[ e [

ote- 1. The upper and lower lines can be used, here the ote: 1. Both the upper and lower lines can be used, here the
following lines are taken 35 an example. following ins are taken as an example; 2. Make sue that the
instalation method does not cause a secondary ground fault

1
oosao-7sov
T ! !

Note: 1. The upper and lower lines can be used, here the iote: 1 Both the upper and lower lines can be used, here the
following ines are taken 35 an example following ines are taken as an example; 2. Make sure that the
instalation method does not cause asecondary ground fault

DC750~1000V

{1

el ]

Note- 1. The upp h
following ines are taken 25 n example. ault C

— oA
L
—A

NM8NDC Wring




